
Math 1A 
Midterm 2 Review Answers 
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[5] The given line has slope 
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− , so the tangent lines must have slope 12  
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The tangent lines are )2(129 −=− xy  and )2(127 +=+ xy   
 
[6] Since the function is quadratic, cbxaxxf ++= 2)(  where 1)1( −=f , 3)1( =′f  and 4)2( =f  
 So, 1−=++ cba , 32 =+ ba  and 424 =++ cba  
 Solving for the coefficients, 22)( 2 −−= xxxf  
 The tangent line is )2(74 −=− xy  
 

[7] 22

42

22

322

)1(
3

)1(
)2()1(3)(

x
xx

x
xxxxxf

+
+

=
+

−+
=′  

42

242223

)1(
))2)(1(2)(3()1)(46()(

x
xxxxxxxxf

+
++−++

=′′  

2
1

16
3240

)11(
))2)(11(2)(13()11)(46()1( 4

2

=
−

=
+

++−++
=′′f  NO NEED TO SIMPLIFY f ′′(x) to find f ′′(1) 

 
 
 
 
 



[8] [a] )2(8)2( fk =  and )2(8)2(12)2()()(3)( 32 ffkxfxxfxxk ′+=′⇒′+=′  
  The tangent line is )2(128 −=+ xy  
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  The tangent line is )4(3 −−= xy  
 
[9] ANSWER WITHHELD (SHOW ME YOUR SOLUTION FOR VERIFICATION) 
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